12. Subject - Verb Agreement
A. Circle the correct verbs in the following sentences:
1.  have
2. have, speak
3. has, needs
4. has
5. is
6. picks
7.  is
8. Are
B. Complete the following sentences using the correct form of the verbs in brackets. The sentences are in the present tense:
1. have
2. is
3. has 
4. is, have
5.  have
6. is
7. have
8. are
C. Underline the errors and rewrite the sentences correctly. Write 'correct' in the space given, if there are no errors:
1. Neither Rohit nor the teachers know where the notebooks are.
2. Either door opens into the auditorium.
3. correct
4. No one has ever been able to swim across this estuary successfully.
5. correct
6. Neither parent needs to attend the sports meet.
7. correct
8. correct
D. Circle the errors and rewrite the correct words in the space given:
1. have - has
2. are - is
3. are - is
4. have - has
5.  begin - begins
6. is - are
7. have - has
8. are – is
E. Choose the correct options to complete the sentences:
1. a. want
2. b. has
3. a. have, has
4. b. is, happens
5. a. were
6. a. goes
7. a. don't
8. a. seems
F. Complete the following passage with the correct form of the verbs in brackets:
is, includes, carry, gets, has, has, is, continue, mistake, do, pass, takes, reduces


